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A1:(6.2501m,-450.555m)  A2:(5.0000m,4.0598m)  DIFF(A):(1.2501m,-454.615m)

Date/Time run: 01/09/12 00:02:39

** Profile: "SCHEMATIC1-zxx"  [ C:\Users\Hawraa\Documents\dasdf-SCHEMATIC1-zxx.sim ] 

Temperature: 27.0

Date: January 09, 2012 Page 1 Time: 00:03:06

(A) dasdf-SCHEMATIC1-zxx.dat (active)

           Time

5.0ms 5.5ms 6.0ms 6.5ms 7.0ms 7.5ms 8.0ms

V(C1:2)

-500mV

0V

500mV

(6.2501m,-450.555m)

(5.7500m,442.426m)
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A1:(6.2501m,-1.9643)  A2:(5.0000m,15.608m)  DIFF(A):(1.2501m,-1.9799)

Date/Time run: 01/09/12 00:04:43

** Profile: "SCHEMATIC1-zxx"  [ C:\Users\Hawraa\Documents\dasdf-SCHEMATIC1-zxx.sim ] 

Temperature: 27.0

Date: January 09, 2012 Page 1 Time: 00:04:58

(A) dasdf-SCHEMATIC1-zxx.dat (active)

           Time

5.0ms 5.5ms 6.0ms 6.5ms 7.0ms 7.5ms 8.0ms

V(C1:2)

-2.0V

-1.0V

0V

1.0V

2.0V

(6.2501m,-1.9643)

(5.7500m,1.8095)
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Date/Time run: 01/09/12 00:05:30

** Profile: "SCHEMATIC1-zxx"  [ C:\Users\Hawraa\Documents\dasdf-SCHEMATIC1-zxx.sim ] 

Temperature: 27.0

Date: January 09, 2012 Page 1 Time: 00:06:04

(A) dasdf-SCHEMATIC1-zxx.dat (active)

           Time

5.0ms 5.5ms 6.0ms 6.5ms 7.0ms 7.5ms 8.0ms

V(C1:2)

-4.0V

-2.0V

0V

2.0V

4.0V



If we try to increase the input above 42.37 mV we can see how the ouput will be distorted.  
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